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1. Production of iron in blast furnace follows the following equation

Fe
3
O

4
(s) + 4CO(g)  3Fe(l) + 4CO

2
(g)

when 4.640 kg of Fe
3
O

4
 and 2.520 kg of CO are allowed to react then the amount of iron (in g) produced

is :

[Given : Molar Atomic mass (g mol–1) : Fe = 56

Molar Atomic mass (g mol–1) : O = 16

Molar Atomic mass (g mol–1) : C = 12]

okR;k HkV~Vh esa vk;ju dk mRiknu fuEu lehdj.k vuqlkj gksrk gS %

Fe
3
O

4
(s) + 4CO(g)  3Fe(l) + 4CO

2
(g)

tc vk;ju ds 4.640 kg vkSj CO ds 2.520 kg vkil esa fØ;k djrs gSa rks mRikfnr vk;ju dh ek=k gS %

[fn;k x;k gS % Fe dk eksyj ijek.kq nzO;eku = 56 g mol–1

O dk eksyj ijek.kq nzO;eku = 16 g mol–1

C dk eksyj ijek.kq nzO;eku = 12 g mol–1]

(1) 1400 (2) 2200 (3) 3360 (4) 4200

Ans. Official Answer NTA (3)

Question ID:101731

Sol.

2. Which of the following statements are correct ?

(A) The electronic configuration of Cr is [Ar] 3d5 4s1.

(B) The magnetic quantum number may have a negative value.

(C) In the ground state of an atom, the orbitals are filled in order of their increasing energies.

(D) The total number of nodes are given by n – 2.

Choose the most appropriate answer from the options given below :

(1) (A), (C) and (D) only (2) (A) and (B) only

(3) (A) and (C) only (4) (A), (B) and (C) only

fuEu esa ls dkSu&ls dFku lgh gSa \
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(A) Cr dk bysDVªkWfud foU;kl gS [Ar] 3d5 4s1 gSA

(B) pqEcdh; DokaVe la[;k dk eku _.kkRed gks ldrk gSA

(C) ryLFk voLFkk esa] ijek.kqvksa ds d{kdksa dks mudh c<+rh ÅtkZ ds Øe esa Hkjk tkrk gSA

(D) uksMksa dh dqy la[;k n – 2 gksrh gSA

uhps fn, x, fodYiksa esa ls lokZf/kd mi;qDr mÙkj dks pqusa %

(1) dsoy (A), (C) rFkk (D) (2) dsoy (A), (B)

(3) dsoy (A), (C) (4) dsoy (A), (B) rFkk (C)

Ans. Official Answer NTA (4)

Question ID:101732

Sol. (A) Cr = [Ar]3d5 4s1

(B) m = –l to +l

(C) According to Aufbau principle, orbitals are filled in order of their increasing energies.

(D) Total nodes = n – 1

3. Arrange the following in the decreasing order of their covalent character :

(A) LiCl (B) NaCl (C) KCl (D) CsCl

Choose the most appropriate answer from the options given below :

fuEu dks muds lgla;ksth y{k.k ds ?kVrs gq, Øe esa O;ofLFkr djsa %

(A) LiCl (B) NaCl (C) KCl (D) CsCl

uhps fn, x, fodYiksa esa ls lgh mÙkj dks pqusa %

(1) (A) > (C) > (B) > (D) (2) (B) > (A) > (C) > (D)

(3) (A) > (B) > (C) > (D) (4) (A) > (B) > (D) > (C)

Ans. Official Answer NTA (3)

Question ID:101733

Sol. Covalent character  polarising power of cation

Correct decreasing order of covalent character

LiCl > NaCl > KCl > CsCl

4. The solubility of AgCl will be maximum in which of the following ?

(1) 0.01 M KCl (2) 0.01 M HCl (3) 0.01 M AgNO
3

(4) Deionised water

fuEu esa ls fdlesa AgCl dh foys;rk lcls vf/kd gksxh \

(1) 0.01 M KCl (2) 0.01 M HCl (3) 0.01 M AgNO
3

(4) fovk;fur ty

Ans. Official Answer NTA (4)

Question ID:101734
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Sol. Solubility decreases with increasing the concentration of common ion. Therefore, the maximum solubility

of AgCl will be in deionized water.

5. Which of the following is a correct statement ?

(1) Brownian motion destabilises sols.

(2) Any amount of dispersed phase can be added to emulsion without destabilising it.

(3) Mixing two oppositely charged sols in equal amount neutralises charges and stabilises colloids.

(4) Presence of equal and similar charges on colloidal particles provides stability to the colloidal solution.

fuEu esa ls dkSu lk ,d lgh dFku gS \

(1) czkmuh xfr lkWy dks vfLFkj djrh gSA

(2) beY”ku dks fcuk vfLFkj fd,] ifj{ksi.k ek/;e dh fdlh Hkh ek=k dks blesa feyk;k tk ldrk gSA

(3) nks ijLij foijhr vkos”k okys lkWy dks leku ek=k esa feykus ij vkos”k dk mnklhu gksdj dksykWbMksa dks fLFkj dj

nsrs gSaA

(4) dksykWbM d.kksa ij leku ,oa ,d tSls vkos”kksa dh mifLFkfr dksykWbMh foy;u dks LFkkf;Ro nsrh gSA

Ans. Official Answer NTA (4)

Question ID:101735

Sol. As equal & similar charge particle will repel each other, hence will never precipitate.

6. The electronic configuration of Pt (atomic number 78) is :

IySfVue dk bysDVªkWfud foU;kl gS % (Pt dh ijek.kq la[;k 78)

(1) [Xe] 4f14 5d9 6s1 (2) [Kr] 4f14 5d10 (3) [Xe] 4f14 5d10 (4) [Xe] 4f14 5d8 6s2

Ans. Official Answer NTA (1)

Question ID:101736

Sol. Pt (Z = 78) = [Xe] 4f14 5d9 6s1

7. In isolation of which one of the following metals from their ores, the use of cyanide salt is not commonly

involved ?

(1) Zinc (2) Gold (3) Silver (4) Copper

fuEu esa ls dkSu ls /kkrq ds fu’d’kZ.k esa lk;ukbM yo.k dk mi;ksx lkekU;r;k ugha djrs gSa \

(1) ftad (2) xksYM (3) flYoj (4) dkWij

Ans. Official Answer NTA (4)

Question ID:101737

Sol. In the extraction of Silver and Gold, NaCN is used to leach the metal.

           
– –

2 2 2
4Au s 8CN aq 2H O O g 4 Au CN aq 4OH aq      



Page No. 5

MATRIX JEE ACADEMY
Office : Piprali Road, Sikar (Raj.) | Ph. 01572-241911

Website : www.matrixedu.in ;  Email : smd@matrixacademy.co.in

Question Paper With Text Solution (Chemistry)
JEE Main June 2022 | 29 June Shift-1

          
2–

2 4
2 Au CN aq Zn 2Au s Zn CN aq


        

In case of ore containing ZnS and PbS, the depressant used is NaCN.

8. Which one of the following reactions indicates the reducing ability of hydrogen peroxide in basic medium?

fuEu esa ls dkSu&lh vfHkfØ;k {kkjh; ek/;e esa gkbMªkstu ijkWDlkbM ds vipk;d xq.k dks iznf”kZr djrh gS \

(1) HOCl + H
2
O

2
  H

3
O+ + Cl– + O

2

(2) PbS + 4H
2
O

2
  PbSO

4
 + 4H

2
O

(3) 2MnO
4
– + 3H

2
O

2
  2MnO

2
 + 3O

2
 + 2H

2
O + 2OH–

(4) Mn2+ + H
2
O

2 
 Mn4+ + 2OH–

Ans. Official Answer NTA (3)

Question ID:101738

Sol. For reducing ability, H
2
O

2
 changes to O

2
, i.e. oxidize , so in option '' & '3' O

2
 is formed but '' is in

acidic medium so option ‘3’ correct.

9. Match List - I with List - II.

List - I List - II

(Metal) (Emitted light wavelength (nm))

(A) Li (I) 670.8

(B) Na (II) 589.2

(C) Rb (III) 780.0

(D) Cs (IV) 455.5

Choose the most appropriate answer from the options given below :

lwph –I dk feyku lwph –II ds lkFk djsa %

lwph – I lwph – II

(/kkrq) (mRlftZr izdk’k dh rjaxnS/;Z (nm))

(A) Li (I) 670.8

(B) Na (II) 589.2

(C) Rb (III) 780.0

(D) Cs (IV) 455.5

uhps fn, x, fodYiksa esa ls lgh mÙkj dks pqusa %

(1) (A)-(I), (B)-(II), (C)-(III), (D)-(IV) (2) (A)-(III), (B)-(II), (C)-(I), (D)-(IV)

(3) (A)-(III), (B)-(I), (C)-(II), (D)-(IV) (4) (A)-(IV), (B)-(II), (C)-(I), (D)-(III)
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Ans. Official Answer NTA (1)

Question ID:101739

Sol. Metal Li Na K Rb Cs

Colour Crimson red Yellow Violet / Lilac Red violet Blue

Wave length ((nm)) 670.8 589.2 766.5 780 455.5

10. Match List - I with List - II.

List - I List - II

(Metal) (Application)

(A) Cs (I) High temperature thermometer

(B) Ga (II) Water repellent sprays

(C) B (III) Photoelectric cells

(D) Si (IV) Bullet proof vest

Choose the most appropriate answer from the options given below :

lwph –I dk feyku lwph –II ds lkFk djsa %

lwph – I lwph – II

(/kkrq) (mi;ksx)

(A) Cs (I) mPp rki ekius okyk rkiekih

(B) Ga (II) ty izfrd’khZ Lizs

(C) B (III) izdk”k oS|qr lsy

(D) Si (IV) cqysV izwQ tSdsV

uhps fn, x, fodYiksa esa ls lgh mÙkj dks pqusa %

(1) (A)-(III), (B)-(I), (C)-(IV), (D)-(II) (2) (A)-(IV), (B)-(III), (C)-(II), (D)-(I)

(3) (A)-(II), (B)-(III), (C)-(IV), (D)-(I) (4) (A)-(I), (B)-(IV), (C)-(II), (D)-(III)

Ans. Official Answer NTA (1)

Question ID:101740

Sol. Metal Application

Cs Photoelectric cells

Ga High temperature thermometer

B Bullet proof vest

Si Water repellent sprays
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11. The oxoacid of phosphorus that is easily obtained from a reaction of alkali and white phosphorus and

has two P – H bonds, is :

(1) Phosphonic acid (2) Phosphinic acid

(3) Pyrophosphorus acid (4) Hypophosphoric acid

“osr QkLQksjl ,oa {kkj dh vfHkfØ;k ls vklkuh ls izkIr gksus okyk QkLQksjl dk vkWDlks vEy ftlesa nks P – H vkcU/k

mifLFkr gSaA

(1) QkWLQksfud vEy (2) QkWLQhuhd vEy (3) ik;jksQkWLQksjl vEy (4) gkbiksQkWLQksfjd vEy

Ans. Official Answer NTA (2)

Question ID:101741

Sol. P
4
 + 3NaOH + 3H

2
O  PH

3
 + 3NaH

2
PO

2

oxoacid = H
3
PO

2
 (hypo phosphorus acid) or (phosphinic acid)

12. The acid that is believed to be mainly responsible for the damage of Taj Mahal is

(1) sulfuric acid (2) hydrofluoric acid (3) phosphoric acid (2) hydrochloric acid.

rkt egy dks {kfr igq¡pkus ds fy, eq[; :i ls mÙkjnk;h vEy gS %

(1) lY¶;wfjd vEy (2) gkbMªks¶yqvksfjd vEy (3) QkWLQksfjd vEy (2) gkbMªksDyksfjd vEy

Ans. Official Answer NTA (1)

Question ID:101742

Sol. The acid rain reacts with marble, CaCO
3
 of Taj Mahal

(CaCO
3
 + H

2
SO

4
  CaSO

4
 + H

2
O + CO

2
)

causing damage to this wonderful monument that has attracted people from around the world. As a

result, the monument is being slowly disfigured and the marble is getting discoloured and lustreless.

13. Two isomers 'A' and 'B' with molecular formula C
4
H

8
 give different products on oxidation with KMnO

4

in acidic medium. Isomer 'A' on reaction with KMnO
4
/H+ results in effervescence of a gas and gives

ketone. The compound 'A' is

(1) But-1-ene. (2) cis-But-2-ene. (3) trans-But-2-ene. (4) 2-methyl propene.

v.kqlw= C
4
H

8 
ds nks leko;o ‘A’ ,oa ‘B’ vEyh; ek/;e esa KMnO

4
 ls vfHkfØ;k djus ij fHkUu mRikn nsrs gSaA leko;o

'A' dh KMnO
4
/H+ ds lkFk vfHkfØ;k xSl dh cqncqnkgV ds lkFk ,d dhVksu mRiUu djrh gSA ;kSfxd 'A' gS %

(1) C;wV–1–bZu (2) cis–C;wV–2–bZu (3) trans–C;wV–2–bZu (4) 2–esfFky izksihu

Ans. Official Answer NTA (4)

Question ID:101743
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Sol. CH3 C = CH2

CH3

KMnO  |H4
+

CH3 C – CH3 + CO2

O

14.

Br COOH
(CH ) CLi3 3

(i) CO2

(ii) H O3
OH OH

[A]


In the given conversion the compound A is :

Br COOH
(CH ) CLi3 3

(i) CO2

(ii) H O3
OH OH

[A]


fn, x, ifjorZu esa ;kSfxd A gS %

(1) 

Li

OH

(2) 

Li

OLi

(3) 

Br

OC(CH )3 3

(4) 

C(CH )3 3

OH

Ans. Official Answer NTA (2)

Question ID:101744

Sol.

15. Given below are two statements :

Statement I : The esterification of carboxylic acid with an alcohol is a nucleophilic acyl substitution.
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Statement II : Electron withdrawing groups in the carboxylic acid will increase the rate of esterification

reaction.

Choose the most appropriate option :

(1) Both Statement I and Statement II are correct.

(2) Both Statement I and Statement II are incorrect.

(3) Statement I is correct but Statement II is incorrect.

(4) Statement I is incorrect but Statement II is correct.

uhps nks dFku fn, x, gSa :

dFku I : dkcksZfDlfyd vEy dk ,sYdksgkWy ds lkFk ,LVjhdj.k ,d ukfHkdLusgh ,sfly izfrLFkkiu gSA

dFku II : dkcksZfDlfyd vEy ij bysDVªkWu viu;u djus okys lewg ,LVjhdj.k vfHkfØ;k dh nj dks

c<+k nsrs gSaA

fuEu fodYiksa esa ls lokZf/kd mi;qDr mÙkj dks pqusa %

(1) dFku I ,oa dFku II nksuksa lgh gSaA

(2) dFku I ,oa dFku II nksuksa xyr gSaA

(3) dFku I lgh gS ijUrq dFku II xyr gSA

(4) dFku I xyr gS ijUrq dFku II lgh gSA

Ans. Official Answer NTA (1)

Question ID:101745

Sol. Esterification of carboxylic acid with an alcohol is nucleophilic acyl substitution and presence of electron

withdrawing group in the carboxylic acid increases the rate of esterification reaction.

Both Statement I and Statement II are correct.

16.

Br (excess)2 (i) (CH CO) O3 2

(ii) Br , CH COOH2 3

(iii) HCl

H O2

A B

Major product Major product

NH2 NH2

Consider the above reactions, the product A and product B respectively are

Br ( )2 vkf/kD; esa (i) (CH CO) O3 2

(ii) Br , CH COOH2 3

(iii) HCl

H O2

A B
eq[; mRikn eq[; mRikn

NH2 NH2
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mi;qZDr vfHkfØ;kvksa ij fopkj djsaA mRikn A ,oa mRikn B gSa] Øe”k %

(1) 

NH2

Br

 ,oa 

NH2

Br

(2) 

NH2

Br Br

Br

 ,oa 

NH2

Br Br

Br

(3) 

NH2

Br Br

Br

 ,oa 

NH2

Br

(4) 

NH2

Br

 ,oa 

NH2

Br Br

Br

Ans. Official Answer NTA (3)

Question ID:101746

Sol.

Br Br

Br

NH2NH2

Br  (excess)2

H O2

NH2

 (CH  CO) O3 2

H O2

NH – C – CH3

O

(i) Br CH COOH

(ii) HCl
2 3

Br

NH2
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17. The polymer, which can be stretched and retains its original status on releasing the force is

(1) Bakelite (2) Nylon 6,6 (3) Buna–N (4) Terylene

cgqyd ftls [khapk tk lds rFkk cy gVkus ij og viuh ewy fLFkfr esa okil vk tk,] og gS %

(1) csdSykbV (2) ukbykWu 6,6 (3) C;wuk–N (4) Vsjhyhu

Ans. Official Answer NTA (3)

Question ID:101747

Sol. Buna – N is synthetic rubber which can be stretched and retains its original status on releasing the force.

18. Sugar moiety in DNA and RNA molecules respectively are

(1) -D-2-deoxyribose, -D-deoxyribose. (2) -D-2-deoxyribose, -D-ribose

(3) -D-ribose, -D-2-deoxyribose. (4) -D-deoxyribose, -D-2-deoxyribose.

DNA ,oa RNA v.kqvksa esa “kdZjk;sa Øe”k% gSaA

(1) -D-2-fMvkWDlhjkbcksl, -D-fMvkWDlhjkbcksl.(2) -D-2-fMvkWDlhjkbcksl, -D-jkbcksl

(3) -D-jkbcksl, -D-2-fMvkWDlhjkbcksl. (4) -D-fMvkWDlhjkbcksl, -D-2-fMvkWDlhjkbcksl.

Ans. Official Answer NTA (2)

Question ID:101748

Sol. The sugar found in polynucleotides is either ribose (a monosaccharide pentose) or 2’ deoxyribose. A

nucleic acid containing deoxyribose is called deoxyribonucleic acid (DNA) while that which contains

ribose is called ribonucleic acid (RNA).

19. Which of the following compound does not contain sulfur atom ?

(1) Cimetidine (2) Ranitidine (3) Histamine (4) Saccharin

fuEu esa ls fdl ;kSfxd esa lYQj ijek.kq ugha gksrk \

(1) flesfVMhu (2) jSfufVMhu (3) fgLVSfeu (4) lSdjhu

Ans. Official Answer NTA (3)

Question ID:101749

Sol. Histamine – does not contain sulphur.

NH2N

N
H

20. Given below are two statements.

Statement I : Phenols are weakly acidic.

Statement II : Therefore they are freely soluble in NaOH solution and are weaker acids than alcohols
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and water.

Choose the most appropriate option :

(1) Both Statement I and Statement II are correct.

(2) Both Statement I and Statement II are incorrect.

(3) Statement I is correct but Statement II is incorrect.

(4) Statement I is incorrect but Statement II is correct.

uhps nks dFku fn, x, gSa :

dFku I : QhukWy nqcZy vEyh; gksrs gSaA

dFku II : blfy, os NaOH foy;u esa eqDr :i ls foy;”khy gSa vkSj ,sYdksgkWyksa rFkk ty dh vis{kk

nqcZy vEy gSA

mi;qZDr dFkuksa ds izdk”k esa uhps fn, x, fodYiksa esa ls lokZf/kd mi;qDr mÙkj dks pqusa %

(1) dFku I ,oa dFku II nksuksa lgh gSaA

(2) dFku I ,oa dFku II nksuksa xyr gSaA

(3) dFku I lgh gS ijUrq dFku II xyr gSA

(4) dFku I xyr gS ijUrq dFku II lgh gSA

Ans. Official Answer NTA (3)

Question ID:101750

Sol. Phenol are weakly acidic. Phenol is more acidic than alcohol & H
2
O statement (I) is correct. (II) is

incorrect.

21. Geraniol, a volatile organic compound, is a component of rose oil. The density of the vapour is 0.46 gL–1 at

257°C and 100 mm Hg.  The molar mass of geraniol is _______ g mol–1. (Nearest Integer)

[Given : R = 0.082 L atm K–1 mol–1]

ftjsfuvkWy tks ,d ok’i”khy dkcZfud ;kSfxd] xqykc ds rsy dk ,d ?kVd gSA bldh ok’i dk 257°C ,oa 100mm Hg

ij ?kuRo 0.46 gL–1 gSA ftjsfuvkWy dk eksyj nzO;eku gS % _______ g mol–1A (fudVre iw.kkZad esa)

[fn;k x;k gS % R = 0.082 L atm K–1 mol–1]

Ans. Official Answer NTA (152)

Question ID:101751

Sol. P = dRT/M

100 0.46 0.082 530

760 M

 


M = 151.93 gram/mole  152
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22. 17.0 g of NH
3
 completely vapourises at – 33.42°C and 1 bar pressure and the enthalpy change in the

process is 23.4 kJ mol–1. The enthalpy change for the vapourisation of 85 g of NH
3
 under the same

conditions is _______ kJ.

17.0 g NH
3
 – 33.42°C ,oa 1 bar nkc ij iw.kZr;k okf’ir gks tkrh gS rFkk bl izØe esa ,UFkSYih ifjorZu 23.4 kJ mol–1

gSA NH
3
 ds 85 g dk leku ifjfLFkfr;ksa esa ok’ihdj.k ds fy, ,UFkSYih ifjorZu gS _______ kJA

Ans. Official Answer NTA (117)

Question ID:101752

Sol. Number of moles of NH
3
 = 5

So, required H = 5 × 23.4 = 117 kJ

23. 1.2 mL of acetic acid is dissolved in water to make 2.0 L of solution. The depression in freezing point

observed for this strength of acid is 0.0198°C. The percentage of dissociation of the acid is ______.

(Nearest integer) [Given : Density of acetic acid is 1.02 g mL–1]

Molar mass of acetic acid is 60 g mol–1; K
f
(H

2
O) = 1.85 K kg mol–1]

,slhfVd vEy ds 1.2 mL dks ty esa ?kksydj 2.0 L foy;u cuk;k x;kA bl izcyrk ds vEy dk fgekad voueu

0.0198°C ik;k x;kA vEy ds fo;kstu dk izfr”kr gS % ______A (fudVre iw.kkZad)

[fn;k x;k gS : ,slhfVd vEy dk ?kuRo 1.02 g mL–1 gS

,slhfVd vEy dk eksyj nzO;eku 60 g mol–1; K
f
(H

2
O) = 1.85 K kg mol–1]

Ans. Official Answer NTA (5)

Question ID:101753

Sol. M = d × V = 1.02 × 1.2 = 1.224 gm

Moles of acetic acid = 0.0204 moles in 2L

So molality = 0.0102 mol/kg

Now T
f
 = i × K

f
 × M

i = 1 +  for acetic acid

0.0198 = (1 + ) × 1.85 × 0.0102

 = 0.04928

 5%

24. A dilute solution of sulphuric acid is electrolysed using a current of 0.10 A for 2 hours to produce

hydrogen and oxygen gas. The total volume of gases produced at STP is _______ cm3. (Nearest integer)

[Given : Faraday constant F = 96500 C mol–1 at STP, molar volume of an ideal gas is 22.7 L mol–1]

gkbMªkstu rFkk vkDlhtu xSl lY¶;wfjd vEy ds ruq foy;u dk fo|qr vi?kVu 0.10 A dh /kkjk dks 2 ?kaVs rd mi;ksx

djus ij izkIr gqbZA STP ij xSlksa dk dqy vk;ru gS % _______ mLA (fudVre iw.kkZad)
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[fn;k x;k gS : QSjkMs fu;rkad F = 96500 C mol–1 at STP ij, fdlh vkn”kZ xSl dk eksyj vk;ru 22.7 L mol–1]

Ans. Official Answer NTA (127)

Question ID:101754

Sol. Charge = q = it = 0.1 × 2 × 60 × 60 = 720 C

   

   

   

–
2 2

– –
2 2

–
2 2 2

Anode : 2H O l O g 4H 4e

Cathode : [2H O l 2e H g 2OH ] 2

2H O l 4e 2H g O

  

   

  

4F charge produced = 3 mole gas

720

96500

 
 
 

F charged produced = 
3 720

4 96500

 
 

 
mole = 

3 18

9650


 mole

Volume of gas (at STP) = 
54

9650
 × 22.7 = 0.127 lit. = 127ml

25. The activation energy of one of the reactions in a biochemical process is 532611 J mol–1. When the

temperature falls from 310 K to 300 K, the change in rate constant observed is k
300

 = x × 10–3 k
310

. The

value of x is ______ .

[Given: ln 10 = 2.3; R = 8.3 J K–1 mol–1]

fdlh tSo jklk;fud izØe esa fdlh vfHkfØ;k dh lfØ;.k ÅtkZ 532611 J mol–1 gSA tc rkieku 310 K ls 300 K

?kVrk gS rks osx fLFkjkad esa ifjorZu ns[kk tkrk gS % k
300

 = x × 10–3 k
310

A x dk eku gS % ______ A

[fn;k x;k gS : ln 10 = 2.3; R = 8.3 J K–1 mol–1]

Ans. Official Answer NTA (1)

Question ID:101755

Sol.
310

300

K 532611 1 1
log

K 8.3 300 310

   
    

  

3 3310
300 310

300

K
10 K 1 10 K

K
    

26. The number of terminal oxygen atoms present in the product B obtained from the following reaction

is _______ .

fuEu vfHkfØ;k ls izkIr mRikn B eas VfeZuy vkWDlhtu ijek.kqvksa dh la[;k gS % _______ A

FeCr
2
O

4
 + Na

2
CO

3
 + O

2
  A + Fe

2
O

3
 + CO

2

A + H+  B + H
2
O + Na+
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Ans. Official Answer NTA (6)

Question ID:101756

Sol. 4FeCr
2
O

4
 + 8Na

2
CO

3
 + 7O

2
  8Na

2
CrO

4
 + 2Fe

2
O

3
 + 8CO

2

2Na
2
CrO

4
 + 2H+  2 2 7

B

Na Cr O
  + 2Na+ + H

2
O

2Na+

2–
O

Cr Cr O

O

O

O

O

O

27. An acidified manganate solution undergoes disproportionation reaction. The spin-only magnetic moment

value of the product having manganese in higher oxidation state is ______ B.M. (Nearest integer)

,d vEyh—r eSaxusV foy;u esa vlekuqikru vfHkfØ;k gksrh gSA mRikn ftlesa eSaxuht mPp vkDlhdj.k voLFkk esa gS]

ds fy, fLiu pqEcdh; vk?kw.kZ gS % ______ B.M. (fudVre iw.kkZad)

Ans. Official Answer NTA (0)

Question ID:101757

Sol. 3MnO
4
2– + 4H+  2MnO

4
– + MnO

2
 + 2H

2
O

25
Mn7+ = 3d0 unpaired electron = 0


(spin only)

 = 0

28. Kjeldahl's method was used for the estimation of nitrogen in an organic compound. The ammonia

evolved from 0.55 g of the compound neutralised 12.5 mL of 1 M H
2
SO

4
 solution. The percentage of

nitrogen in the compound is ______. (Nearest integer)

,d dkcZfud ;kSfxd esa ukbVªkstu ds ek=kRed fo”ys’k.k ds fy, dSYMkWy fof/k dk mi;ksx fd;k x;kA 0.55 g ;kSfxd

ls fueqZDr veksfu;k us 1 M H
2
SO

4
 foy;u ds 12.5 mL dks mnklhu fd;kA ;kSfxd esa ukbVªkstu dk izfr”kr gS %

______A (fudVre iw.kkZad)

Ans. Official Answer NTA (64)

Question ID:101758

Sol.
1.4 N V

%N
Mass of organic compound

 


1.4 2 12.5
63.63% 64

0.55

 
  



Page No. 16

MATRIX JEE ACADEMY
Office : Piprali Road, Sikar (Raj.) | Ph. 01572-241911

Website : www.matrixedu.in ;  Email : smd@matrixacademy.co.in

Question Paper With Text Solution (Chemistry)
JEE Main June 2022 | 29 June Shift-1

29. Observe structures of the following compounds

NH2

OH

OH
O

OH

O

H N2

Cl

The total number of structures/compounds which possess asymmetric carbon atoms is _________.

;kSfxd ds fuEu lajpukvksa dks ns[ksa %

NH2

OH

OH
O

OH

O

H N2

Cl

ljpuk,¡@ ;kSfxd ftuesa vlefer dkcZu ijek.kq gSa] dh dqy la[;k gS % _________A

Ans. Official Answer NTA (3)

Question ID:101759

Sol.

Cl

O
*

NH2
OH

OH

Number of compounds containing asymmetric carbons are three.

30.
Zymase NaOI


C H O6 12 6 A B + CHI3

The number of carbon atoms present in the product B is ______________.

Zymase NaOI


C H O6 12 6 A B + CHI3

mRikn B  esa dkcZu ijek.kqvksa dh la[;k gS % ______________A

Ans. Official Answer NTA (1)

Question ID:101760

Sol. C
6
H

12
O

6
 

ZymaseC
2
H

5
OH

 

–
2

3

I /OH

H O  HCOOH + CHI
3


